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Tangents £
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1. ED is tangent to Circle F at point E. Find x. - ';'/'“..3
Review of content: « Ifaline is tangent to a circle, then it is perpendicular to D'." : "/ \ \
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2. Congruent Tangents

Review of content: « ttwo segments from the same exterior point are tangent
to a circle, then they are congruent.

a. Find AC. Assume that segments b. Triangle ADC is circumscribed

that appear tangent to circles are (each segment is tangent to the
tangent. AD 2 AR circle) about Circle O. Find the
6450 perimeter of Triangle ADC if
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Two Tangents and Angles Conjecture: If two tangents intersect in the
exterior of the circle then the measure of the angle formed is half the
difference of the measures of the intercepted arcs.

3. Find x. X0 Q‘o%\.b ’\1’0 Review of content:

2 Tangents
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Two Chords
Two Chord Interior Conjecture: If two chords intersect in the interior of a
circle, then the products of the measures of the chord
segments are equal.

4. Find x.
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Review of content: “

Angles of Intersecting Chords Theorem: If two chords intersect inside a
circle, then the measure of each angle formed is one half the sum of the
measures of the arcs intercepted by the angle and its vertical angle.
5. Find x. Review of content:
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Secants

Two Secants Exterior Conjecture: If 2 secants meet at an exterior point of
the circle, then the product of the measures of the secant and the external
secant is equal to the product of the other secant and the external secant.

6. Find x. Review of content:

2 Secants
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b (wWhole) = d (h)hb\r(_)

8 (x+8) =10(z4)
Bx+Ld =340

Bx =210
X=345

Two Secants and Angles Conjecture: If two secants intersect in the exterior

of the circle then the measure of the angle formed is half the difference of the
measures of the intercepted arcs.

7. Find x. Review of content:
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2 Secants
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Tangent and a Secants

Tangent & Secant Exterior Conjecture:

If a secant and tangent meet at an exterior point of the circle, then the product

of the measures of the secant and the external secant is equal to the square of
the tangent.
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Review of content:

—— Tangent-Secant
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§ X= z(m=-n)
2\*= 20 (x+20) o= b (whoke)

A\ = 20 x +400
S5p\ = 20X

Exterior Tangent-Secant Angles Conjecture: If a tangent and a secant
intersect in the exterior of the circle then the measure of the angle formed is
half the difference of the measures of the intercepted arcs.
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Tangent - Chord Conjecture: If a tangent and a secant or chord intersect at
the point of tangency of the circle then the measure of the angle formed is half
the measure of the intercepted arc.
10. Find mzABC. Review of content:
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Arc Length and Sector Area (Review)

11. In circle R with mzQRS = 60° and QR = 6 cm find the of arc length of
QS. Round to the nearest hundredth.

C_ dn of Zn'r' Review of content:
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12. Find the area of a circle with circumference 187 m.

A=1r X d=2r fe_vieuzi of content:
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13. In circle R with m/_QRS = 50° and QR = 15 cm, find the of area of the
sector QRS. Round to the nearest hundredth.

Review of content:
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Equation of a Circle A circle is the locus of points in a B y

plane equidistant from a given point. You can use this definition »
to write an equation of a circle. / ;
r

Standard Equation  An equation for a circle with center at (h, k) Ol ¢

of a Circle and a radius of r units is (x — h)? + - k)2 re.

14. Write the equations and graph the circle with the centered at the

origin with a radius of 5 units. (O .05 Review of content:
\ Equation of circle center at origin:
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x*+y* =r’ where r1s the radius.
r=5
=

>("-\-\/1=5?'

- -
12349678910

t

P2

15. Write the equations and graph the circle with the center at (—6,—4)

and a radius of 2 units. Review of content:
Equation of circle not at origin:

A b b b
13 Y (x=h)+(v=k)" =r° where (/) 1s the
8 center and r 1s the radius.
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16. A circle with center at (—3,5) has a radius with endpoint (1,8). Write

an equation for the circle.

Review of content:
Equation of circle not at origin

v

A (-1'—/7): +(_\'—k): =* where (/1,k) 1s the
1121 center and r 1s the radius.
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